














Administrator
This is the canonical structure for ZF-DFE when the observation is the ZF-LE output. 

Administrator
Here, the constraints are

1) A(z) must be monic, causal
2) innovation sequence must be white and has minimum variance. 

To whiten the noise, the filter must be a square root of Q(z) which is causal R(z) (poles must be inside the unit circle.). Then the desired component becomes R(z). 
Since variance is proportional to 1/r[0]^2, r[0] should be maximized.=> R(z) should be minimum phase (zeros must be inside the unit circle.)... Done!





